# On Triple Difference Sequences of Real Numbers in Neutrosophic Normed Spaces 

Ömer Kişi ${ }^{1 \text { * }}$, Verda Gürdal ${ }^{2}$


#### Abstract

The aim of this article is to investigate triple $\Delta$-statistical convergent sequences in a neutrosophic normed space (NNS). Also, we examine the notions of $\Delta$-statistical limit points and $\Delta$-statistical cluster points and prove their important features.


Keywords: Difference sequence, Lacunary sequence, Neutrosophic normed space, Triple sequence 2020 AMS: 40A05, 40C05
${ }^{1}$ Faculty of Science, Department of Mathematics, Bartın University, Bartın, Turkey, ORCID: 0000-0001-6844-3092
${ }^{2}$ Department of Mathematics, Süleyman Demirel University, Isparta, Turkey, ORCID: 0000-0001-5130-7844
*Corresponding author: okisi@bartin.edu.tr
Received: 19 November 2021, Accepted: 21 December 2021, Available online: 19 March 2022

## 1. Introduction

The initial work on fuzzy sets was established by Zadeh [1]. Then, several authors have advanced the theory of fuzzy set. Park [2] defined intuitionistic fuzzy metric space and also intuitionistic fuzzy normed space was examined by Lael and Nourouzi [3]. Some beneficial results on this topic can be found in [4]-[7].

The neutrosophic set (NS) was worked by F. Smarandache [8] who defined the degree of indeterminacy (i) as indepedent component. In [9], neutrosophic logic was firstly examined. It is a logic where each proposition is identified to have a degree of truth (T), falsity (F), and indeterminacy (I). A Neutrosophic set (NS) is specified as a set where each component of the universe has a degree of T, F and I. Kirişçi and Şimşek [10] discussed neutrosophic metric space (NMS) with continuous $t$-norms and continuous $t$-conorms. The theory of NNS and statistical convergence in NNS were first developed by Kirişci and Şimşek [11]. Neutrosophic set and neutrosophic logic has utilized by applied sciences and theoretical science for instance summability theory, decision making, robotics. Some remarkable results on this topic can be reviewed in [12]-[15].

The concept of statistical convergence was investigated under the name almost convergence by Zygmund [16]. It was formally introduced by Fast [17]. Later the idea was associated with summability theory by Fridy [18], and many others (see [19]-[22]). The studies of triple sequences have seen rapid growth. The initial work on the statistical convergence of triple sequences was establised by Şahiner et al. [23] and the other researches continued by [24, 25]. The idea of difference sequences was given by Kızmaz [26] where $\Delta x=\left(\Delta x_{k}\right)=x_{k}-x_{k+1}$. Başarır [27] investigated the $\Delta$-statistical convergence of sequences. Also, the generalized difference sequence spaces were worked by various authors [28]-[30].

Since sequence convergence plays a very significant role in the fundamental theory of mathematics, there are many convergence notions in summability theory, in approximation theory, in classical measure theory, in probability theory, and the relationships between them are discussed. The interested reader may consult Hazarika et al. [31], the monographs [32] and [33] for the background on the sequence spaces and related topics. Inspired by this, in this study, a further investigation into the mathematical features of triple sequences will be thought. Section 2 recalls some definitions in summability theory and NNS.

In Section 3, we study triple $\Delta$-statistical convergent sequences in a NNS. Also, we examine the notions of $\Delta$-statistical limit point and $\Delta$-statistical cluster point and prove their important features.

## 2. Definitions and preliminaries

Now, we remember essential definitions required in this study.
Triangular norms ( $t$-norms) (TN) were considered by Menger [34]. Triangular conorms ( $t$-conorms) (TC) recognized as dual operations of TNs. TNs and TCs are significant for fuzzy operations.
Definition 2.1. ([34]) Let $*:[0,1] \times[0,1] \rightarrow[0,1]$ be an operation. If $*$ provides subsequent cases, it is named continuous $T N$. Take $a, b, c, d \in[0,1]$,
(a) $a * 1=a$,
(b) If $a \leq c$ and $b \leq d$, then $a * b \leq c * d$,
(c) $*$ is continuous,
(d) $*$ associative and commutative.

Definition 2.2. ([34]) Let $\diamond:[0,1] \times[0,1] \rightarrow[0,1]$ be an operation. If $\diamond$ provides subsequent cases, it is named to be continuous $T C$.
(a) $a \diamond 0=a$,
(b) If $a \leq c$ and $b \leq d$, then $a \diamond b \leq c \diamond d$,
(c) $\diamond$ is continuous,
$(d) \diamond$ associative and commutative.
Definition 2.3. ([11]) Let $F$ be a vector space, $\mathscr{N}=\{\langle\Phi, \mathscr{G}(\Phi), \mathscr{B}(\bar{\omega}), \mathscr{Y}(\bar{\Phi})\rangle: \bar{\omega} \in F\}$ be a normed space (NS) such that $\mathscr{N}: F \times \mathbb{R}^{+} \rightarrow[0,1]$. While subsequent situations hold, $V=(F, \mathscr{N}, *, \diamond)$ is called to be NNS. For each $\varpi, \kappa \in F$ and $\lambda, \mu>0$ and for all $\sigma \neq 0$,
(a) $0 \leq \mathscr{G}(\varpi, \lambda) \leq 1,0 \leq \mathscr{B}(\varpi, \lambda) \leq 1,0 \leq \mathscr{Y}(\varpi, \lambda) \leq 1 \forall \lambda \in \mathbb{R}^{+}$,
(b) $\mathscr{G}(\varpi, \lambda)+\mathscr{B}(\varpi, \lambda)+\mathscr{Y}(\varpi, \lambda) \leq 3\left(\right.$ for $\left.\lambda \in \mathbb{R}^{+}\right)$,
(c) $\mathscr{G}(\varpi, \lambda)=1($ for $\lambda>0)$ iff $\bar{\omega}=0$,
(d) $\mathscr{G}(\sigma \varpi, \lambda)=\mathscr{G}\left(\varpi, \frac{\lambda}{|\sigma|}\right)$,
(e) $\mathscr{G}(\bar{\omega}, \mu) * \mathscr{G}(\kappa, \lambda) \leq \mathscr{G}(\bar{\omega}+\kappa, \mu+\lambda)$,
$(f) \mathscr{G}(\varpi,$.$) is non-decreasing continuous function,$
(g) $\lim _{\lambda \rightarrow \infty} \mathscr{G}(\varpi, \lambda)=1$,
(h) $\mathscr{B}(\varpi, \lambda)=0($ for $\lambda>0)$ iff $\Phi=0$,
(i) $\mathscr{B}(\sigma \varpi, \lambda)=\mathscr{B}\left(\varpi, \frac{\lambda}{|\sigma|}\right)$,
(j) $\mathscr{B}(\varpi, \mu) \diamond \mathscr{B}(\kappa, \lambda) \geq \mathscr{B}(\varpi+\kappa, \mu+\lambda)$,
(k) $\mathscr{B}(\varpi,$.$) is non-decreasing continuous function,$
(l) $\lim _{\lambda \rightarrow \infty} \mathscr{B}(\boldsymbol{\Phi}, \boldsymbol{\lambda})=0$,
(m) $\mathscr{Y}(\boldsymbol{\varpi}, \lambda)=0($ for $\lambda>0)$ iff $\Phi=0$,
(n) $\mathscr{Y}(\sigma \varpi, \lambda)=\mathscr{Y}\left(\varpi, \frac{\lambda}{|\sigma|}\right)$,
(o) $\mathscr{Y}(\varpi, \mu) \diamond \mathscr{Y}(\kappa, \lambda) \geq \mathscr{Y}(\varpi+\kappa, \mu+\lambda)$,
(p) $\mathscr{Y}(\varpi,$.$) is non-decreasing continuous function,$
$(r) \lim _{\lambda \rightarrow \infty} \mathscr{Y}(\bar{\varpi}, \boldsymbol{\lambda})=0$,
(s) If $\lambda \leq 0$, then $\mathscr{G}(\varpi, \lambda)=0, \mathscr{B}(\varpi, \lambda)=1$ and $\mathscr{Y}(\varpi, \lambda)=1$.

Then $\mathscr{N}=(\mathscr{G}, \mathscr{B}, \mathscr{Y})$ is called Neutrosophic norm (NN).
We recall the notions of convergence, statistical convergence, lacunary statistical convergence for single sequences in a NNS.

Definition 2.4. ([11]) Take $V$ as an NNS. Let $\varepsilon \in(0,1)$ and $\lambda>0$. Then, a sequence $\left(x_{k}\right)$ is converges to $L \in F$ iff there is $N \in \mathbb{N}$ such that $\mathscr{G}\left(x_{k}-L, \lambda\right)>1-\varepsilon, \mathscr{B}\left(x_{k}-L, \lambda\right)<\varepsilon, \mathscr{Y}\left(x_{k}-L, \lambda\right)<\varepsilon$. That is,

$$
\lim _{k \rightarrow \infty} \mathscr{G}\left(x_{k}-L, \lambda\right)=1, \lim _{k \rightarrow \infty} \mathscr{B}\left(x_{k}-L, \lambda\right)=0 \text { and } \lim _{k \rightarrow \infty} \mathscr{Y}\left(x_{k}-L, \lambda\right)=0
$$

as $\lambda>0$. The convergent in NNS is signified by $\mathscr{N}-\operatorname{limx}_{k}=L$.

Definition 2.5. ([11]) A sequence $\left(x_{k}\right)$ is named to be statistically convergent to $L \in F$ with regards to $N N(S C-N N)$, provided that, for each $\lambda>0$ and $\varepsilon>0$

$$
\left.\left.\lim _{n \rightarrow \infty} \frac{1}{n} \right\rvert\,\left\{k \leq n: \mathscr{G}\left(x_{k}-L, \lambda\right) \leq 1-\varepsilon \text { or } \mathscr{B}\left(x_{k}-L, \lambda\right) \geq \varepsilon, \mathscr{Y}\left(x_{k}-L, \lambda\right) \geq \varepsilon\right\} \right\rvert\,=0 .
$$

It is demonstrated by $S_{\mathscr{N}}-\lim x_{k}=L$.
Now we give the following notion.
Definition 2.6. ([23]) A subset $K$ of $\mathbb{N}^{3}$ is said to have natural density $\delta_{3}(K)$ if

$$
\delta_{3}(K)=P-\lim _{n, l, k \rightarrow \infty} \frac{\left|K_{n l k}\right|}{n l k}
$$

exists, where the vertical bars denote the number of $(n, l, k)$ in $K$ such that $p \leq n, q \leq l, r \leq k$. Then, a real triple sequence $x=\left(x_{p q r}\right)$ is said to be statistically convergent to L in Pringsheim's sense if for every $\varepsilon>0$,

$$
\delta_{3}\left(\left\{(n, l, k) \in \mathbb{N}^{3}: p \leq n, q \leq l, r \leq k,\left|x_{p q r}-L\right| \geq \varepsilon\right\}\right)=0 .
$$

## 3. Main results

Definition 3.1. A triple sequence $w=\left(w_{n l k}\right)$ in $V$ is named to be $\Delta$-convergent to $\zeta \in F$ with regards to (w.r.t in short) $N N$ $(\mathscr{G}, \mathscr{B}, \mathscr{Y})$ on condition that for every $\lambda>0$ and $\varepsilon \in(0,1)$, there is a positive integer $k_{0}$ such that

$$
\mathscr{G}\left(\Delta w_{n l k}-\zeta, \lambda\right)>1-\varepsilon \text { and } \mathscr{B}\left(\Delta w_{n l k}-\zeta, \lambda\right)<\varepsilon, \mathscr{Y}\left(\Delta w_{n l k}-\zeta, \lambda\right)<\varepsilon
$$

for every $n \geq k_{0}, l \geq k_{0}, k \geq k_{0}$ where $n, l, k \in \mathbb{N}$ and $\Delta w_{n l k}=w_{n l k}-w_{n, l+1, k}-w_{n, l, k+1}+w_{n, l+1, k+1}-w_{n+1, l, k}+w_{n+1, l+1, k}+$ $w_{n+1, l, k+1}-w_{n+1, l+1, k+1}$. We indicate $(\mathscr{G}, \mathscr{B}, \mathscr{Y})-\lim \Delta w=\zeta$ or $\Delta w \rightarrow \zeta((\mathscr{G}, \mathscr{B}, \mathscr{Y}))$ as $n, l, k \rightarrow \infty$.
Definition 3.2. A triple sequence $w=\left(w_{n l k}\right)$ is named to be $\Delta$-Cauchy in $V$ w.r.t $N N(\mathscr{G}, \mathscr{B}, \mathscr{Y})$ if for each $\varepsilon \in(0,1)$ and $\lambda>0$, there are positive integers $t_{0}, t_{1}, t_{2}$ such that $\mathscr{G}\left(\Delta w_{n l k}-\Delta w_{p q r}, \lambda\right)>1-\varepsilon$ and $\mathscr{B}\left(\Delta w_{n l k}-\Delta w_{p q r}, \lambda\right)<\varepsilon, \mathscr{Y}\left(\Delta w_{n l k}-\Delta w_{p q r}, \boldsymbol{\lambda}\right)<$ $\varepsilon$, whenever $n, p \geq t_{0}, l, q \geq t_{1}, k, r \geq t_{2}$.
Definition 3.3. A triple sequence $w=\left(w_{n l k}\right)$ is named to be $\Delta$-statistical convergent to $\zeta$ in $V$ w.r.t $N N(\mathscr{G}, \mathscr{B}, \mathscr{Y})$ if for each $\varepsilon \in(0,1)$ and $\lambda>0$,

$$
\delta_{3}\left(\left\{(n, l, k) \in \mathbb{N}^{3}: \mathscr{G}\left(\Delta w_{n l k}-\zeta, \lambda\right) \leq 1-\varepsilon \text { or } \mathscr{B}\left(\Delta w_{n l k}-\zeta, \lambda\right) \geq \varepsilon, \mathscr{Y}\left(\Delta w_{n l k}-\zeta, \lambda\right) \geq \varepsilon\right\}\right)=0 .
$$

In this case, we denote $s t_{N(\Delta)}^{3}-\lim w_{n l k}=\zeta$.
Definition 3.4. A triple sequence $w=\left(w_{n l k}\right)$ is named to be $\Delta$-statistically Cauchy in $V$ w.r.t $N N(\mathscr{G}, \mathscr{B}, \mathscr{Y})$ if for each $\varepsilon \in(0,1)$ and $\lambda>0$, there are positive integers $U, V$ and $Y$ such that

$$
\delta_{3}\left(\left\{\begin{array}{c}
(n, l, k) \in \mathbb{N}^{3}: \mathscr{G}\left(\Delta w_{n l k}-\Delta w_{p q r}, \lambda\right) \leq 1-\varepsilon \text { or } \\
\mathscr{B}\left(\Delta w_{n l k}-\Delta w_{p q r}, \lambda\right) \geq \varepsilon, \mathscr{Y}\left(\Delta w_{n l k}-\Delta w_{p q r}, \lambda\right) \geq \varepsilon
\end{array}\right\}\right)=0
$$

for all $n, p \geq U, l, q \geq V, k, r \geq Y$.
Lemma 3.5. For each $\varepsilon \in(0,1)$ and $\lambda>0$, the subsequent cases are equivalent.
(a) $s t_{N(\Delta)}^{3}-\lim w_{n l k}=\zeta$.
(b)

$$
\delta_{3}\left(\left\{\begin{array}{c}
(n, l, k) \in \mathbb{N}^{3}: \mathscr{G}\left(\Delta w_{n l k}-\xi, \lambda\right) \leq 1-\varepsilon \text { or } \\
\mathscr{B}\left(\Delta w_{n l k}-\xi, \lambda\right) \geq \varepsilon, \mathscr{Y}\left(\Delta w_{n l k}-\xi, \lambda\right) \geq \varepsilon
\end{array}\right\}\right)=0,
$$

(c)

$$
\delta_{3}\left(\left\{\begin{array}{l}
(n, l, k) \in \mathbb{N}^{3}: \mathscr{G}\left(\Delta w_{n l k}-\xi, \lambda\right)>1-\varepsilon \text { and } \\
\mathscr{B}\left(\Delta w_{n l k}-\xi, \lambda\right)<\varepsilon, \mathscr{Y}\left(\Delta w_{n l k}-\xi, \lambda\right)<\varepsilon
\end{array}\right\}\right)=1,
$$

(d)

$$
\begin{aligned}
& s t_{N(\Delta)}^{3}-\lim \mathscr{G}\left(\Delta w_{n l k}-\xi, \lambda\right)=1 \text { and } \\
& s t_{N(\Delta)}^{3}-\lim \mathscr{B}\left(\Delta w_{n l k}-\xi, \lambda\right)=0 \\
& s t_{N(\Delta)}^{3}-\lim \mathscr{Y}\left(\Delta w_{n l k}-\xi, \lambda\right)=0
\end{aligned}
$$

Proof. $(a) \Rightarrow(b)$ Presume that $s t_{N(\Delta)}^{3}-\lim w_{n l k}=\zeta$. Then, we get for each $\varepsilon \in(0,1)$ and $\lambda>0$,

$$
\delta_{3}\left(\left\{\begin{array}{c}
(n, l, k) \in \mathbb{N}^{3}: \mathscr{G}\left(\Delta w_{n l k}-\zeta, \lambda\right) \leq 1-\varepsilon \text { or } \\
\mathscr{B}\left(\Delta w_{n l k}-\zeta, \lambda\right) \geq \varepsilon, \mathscr{Y}\left(\Delta w_{n l k}-\zeta, \lambda\right) \geq \varepsilon
\end{array}\right\}\right)=0 .
$$

$(b) \Rightarrow(c)$ Take $\varepsilon \in(0,1)$ and $\lambda>0$. Then, we acquire

$$
\begin{aligned}
& \delta_{3}\left(\left\{\begin{array}{c}
(n, l, k) \in \mathbb{N}^{3}: \mathscr{G}\left(\Delta w_{n l k}-\xi, \lambda\right)>1-\varepsilon \text { and } \\
\mathscr{B}\left(\Delta w_{n l k}-\xi, \lambda\right)<\varepsilon, \mathscr{Y}\left(\Delta w_{n l k}-\xi, \lambda\right)<\varepsilon
\end{array}\right\}\right) \\
& \quad=1-\delta_{3}\left(\left\{\begin{array}{c}
(n, l, k) \in \mathbb{N}^{3}: \mathscr{G}\left(\Delta w_{n l k}-\xi, \lambda\right) \leq 1-\varepsilon \text { or } \\
\mathscr{B}\left(\Delta w_{n l k}-\xi, \lambda\right) \geq \varepsilon, \mathscr{Y}\left(\Delta w_{n l k}-\xi, \lambda\right) \geq \varepsilon
\end{array}\right\}\right)=1 .
\end{aligned}
$$

$(c) \Rightarrow(d)$ Take $\varepsilon \in(0,1)$ and $\lambda>0$. Then, we obtain

$$
\begin{aligned}
& \left\{(n, l, k) \in \mathbb{N}^{3}:\left|\mathscr{G}\left(\Delta w_{n l k}-\xi, \lambda\right)-1\right| \geq \varepsilon\right\} \\
& \quad=\left\{(n, l, k) \in \mathbb{N}^{3}: \mathscr{G}\left(\Delta w_{n l k}-\xi, \lambda\right) \leq 1-\varepsilon\right\} \\
& \quad \cup\left\{(n, l, k) \in \mathbb{N}^{3}: \mathscr{G}\left(\Delta w_{n l k}-\xi, \lambda\right) \geq 1+\varepsilon\right\} .
\end{aligned}
$$

Therefore, we have

$$
\begin{aligned}
& \delta_{3}\left(\left\{(n, l, k) \in \mathbb{N}^{3}:\left|\mathscr{G}\left(\Delta w_{n l k}-\xi, \lambda\right)-1\right| \geq \varepsilon\right\}\right) \\
& \quad=\delta_{3}\left(\left\{(n, l, k) \in \mathbb{N}^{3}: \mathscr{G}\left(\Delta w_{n l k}-\xi, \lambda\right) \leq 1-\varepsilon\right\}\right) \\
& \quad+\delta_{3}\left(\left\{(n, l, k) \in \mathbb{N}^{3}: \mathscr{G}\left(\Delta w_{n l k}-\xi, \lambda\right) \geq 1+\varepsilon\right\}\right) .
\end{aligned}
$$

Since,

$$
\begin{aligned}
& \delta_{3}\left(\left\{(n, l, k) \in \mathbb{N}^{3}: \mathscr{G}\left(\Delta w_{n l k}-\xi, \lambda\right) \leq 1-\varepsilon\right\}\right)=0 \text { and } \\
& \delta_{3}\left(\left\{(n, l, k) \in \mathbb{N}^{3}: \mathscr{G}\left(\Delta w_{n l k}-\xi, \lambda\right) \geq 1+\varepsilon\right\}\right)=0
\end{aligned}
$$

we get

$$
\delta_{3}\left(\left\{(n, l, k) \in \mathbb{N}^{3}:\left|\mathscr{G}\left(\Delta w_{n l k}-\xi, \lambda\right)-1\right| \geq \varepsilon\right\}\right)=0
$$

So $s t_{N(\Delta)}^{3}-\lim \mathscr{G}\left(\Delta w_{n l k}-\xi, \lambda\right)=1$. Similarly, we obtain $s t_{N(\Delta)}^{3}-\lim \mathscr{B}\left(\Delta w_{n l k}-\xi, \lambda\right)=0, s t_{N(\Delta)}^{3}-\lim \mathscr{Y}\left(\Delta w_{n l k}-\xi, \lambda\right)=$ 0.

Theorem 3.6. If $w=\left(w_{n l k}\right)$ is $\Delta$-statistically convergent to $\zeta$ in $V$ w.r.t $N N(\mathscr{G}, \mathscr{B}, \mathscr{Y})$, then $s t_{N(\Delta)}^{3}-\lim w_{n l k}$ is determined unique.

Proof. Let $s t_{N(\Delta)}^{3}-\lim w_{n l k}=\zeta_{1}$ and $s t_{N(\Delta)}^{3}-\lim w_{n l k}=\zeta_{2}$, where $\zeta_{1} \neq \zeta_{2}$. For a given $\varepsilon \in(0,1)$ select $v \in(0,1)$ such that $(1-v) *(1-v)>1-\varepsilon$ and $v \diamond v<\varepsilon$. For any $\lambda>0$, we identify the subsequent sets:

$$
\begin{aligned}
& F_{\mathscr{G}, 1}(v, \lambda)=\left\{(n, l, k) \in \mathbb{N}^{3}: \mathscr{G}\left(\Delta w_{n l k}-\xi_{1}, \lambda\right) \leq 1-v\right\} \\
& F_{\mathscr{G}, 2}(v, \lambda)=\left\{(n, l, k) \in \mathbb{N}^{3}: \mathscr{G}\left(\Delta w_{n l k}-\xi_{2}, \lambda\right) \leq 1-v\right\} \\
& F_{\mathscr{B}, 1}(v, \lambda)=\left\{(n, l, k) \in \mathbb{N}^{3}: \mathscr{B}\left(\Delta w_{n l k}-\xi_{1}, \lambda\right) \geq v\right\} \\
& F_{\mathscr{B}, 2}(v, \lambda)=\left\{(n, l, k) \in \mathbb{N}^{3}: \mathscr{B}\left(\Delta w_{n l k}-\xi_{2}, \lambda\right) \geq v\right\} \\
& F_{\mathscr{Y}, 1}(v, \lambda)=\left\{(n, l, k) \in \mathbb{N}^{3}: \mathscr{Y}\left(\Delta w_{n l k}-\xi_{1}, \lambda\right) \geq v\right\} \\
& F_{\mathscr{Y}, 2}(v, \lambda)=\left\{(n, l, k) \in \mathbb{N}^{3}: \mathscr{Y}\left(\Delta w_{n l k}-\xi_{2}, \lambda\right) \geq v\right\}
\end{aligned}
$$

Since $s t_{N(\Delta)}^{3}-\lim w_{n l k}=\zeta_{1}$, we say

$$
\delta_{3}\left(F_{\mathscr{G}, 1}(v, \lambda)\right)=\delta_{3}\left(F_{\mathscr{B}, 1}(v, \lambda)\right)=\delta_{3}\left(F_{\mathscr{Y}, 1}(v, \lambda)\right)=0
$$

for all $\lambda>0$. In addition, utilizing $s t_{N(\Delta)}^{3}-\lim w_{n l k}=\zeta_{2}$, we acquire

$$
\delta_{3}\left(F_{\mathscr{G}, 2}(v, \lambda)\right)=\delta_{3}\left(F_{\mathscr{B}, 2}(v, \lambda)\right)=\delta_{3}\left(F_{\mathscr{Y}, 2}(v, \lambda)\right)=0
$$

for all $\lambda>0$.

Now, take

$$
F_{\mathscr{G}, \mathscr{B}, \mathscr{Y}}(v, \lambda):=\left(F_{\mathscr{G}, 1}(v, \lambda) \cup F_{\mathscr{G}, 2}(v, \lambda)\right) \cap\left(F_{\mathscr{B}, 1}(v, \lambda) \cup F_{\mathscr{B}, 2}(v, \lambda)\right) \cap\left(F_{\mathscr{Y}, 1}(v, \lambda) \cup F_{\mathscr{Y}, 2}(v, \lambda)\right) .
$$

Then, contemplate that $\delta_{3}\left(F_{\mathscr{G}, \mathscr{B}, \mathscr{Y}}(v, \lambda)\right)=0$ that implies $\delta_{3}\left(\mathbb{N}^{3} \backslash F_{\mathscr{G}, \mathscr{B}, \mathscr{Y}}(v, \lambda)\right)=1$. If $(n, l, k) \in \mathbb{N}^{3} \backslash F_{\mathscr{G}, \mathscr{B}, \mathscr{Y}}(v, \lambda)$, then we get three possible situations. The former is the situation of $(n, l, k) \in \mathbb{N}^{3} \backslash\left(F_{\mathscr{G}, 1}(v, \lambda) \cup F_{\mathscr{G}, 2}(v, \lambda)\right)$, the second is $(n, l, k) \in \mathbb{N}^{3} \backslash\left(F_{\mathscr{B}, 1}(v, \lambda) \cup F_{\mathscr{B}, 2}(v, \lambda)\right)$ and the third is $(n, l, k) \in \mathbb{N}^{3} \backslash\left(F_{\mathscr{Y}, 1}(v, \lambda) \cup F_{\mathscr{Y}, 2}(v, \lambda)\right)$. First think that $(n, l, k) \in$ $\mathbb{N}^{3} \backslash\left(F_{\mathscr{G}, 1}(v, \lambda) \cup F_{\mathscr{G}, 2}(v, \lambda)\right)$. Then, we acquire

$$
\mathscr{G}\left(\xi_{1}-\xi_{2}, \lambda\right) \geq \mathscr{G}\left(\Delta w_{n l k}-\xi_{1}, \frac{\lambda}{2}\right) * \mathscr{G}\left(\Delta w_{n l k}-\xi_{2}, \frac{\lambda}{2}\right)>(1-v) *(1-v)
$$

Since $(1-v) *(1-v)>1-\varepsilon$, we have $\mathscr{G}\left(\xi_{1}-\xi_{1}, \lambda\right)>1-\varepsilon$. Since $\varepsilon \in(0,1)$ was arbitrary, we get $\mathscr{G}\left(\xi_{1}-\xi_{2}, \lambda\right)=1$ for all $\lambda>0$ which means that $\xi_{1}=\xi_{2}$. At the same time, if $(n, l, k) \in \mathbb{N}^{3} \backslash\left(F_{\mathscr{B}, 1}(v, \lambda) \cup F_{\mathscr{B}, 2}(v, \lambda)\right)$, we can see

$$
\mathscr{B}\left(\xi_{1}-\xi_{2}, \lambda\right)<\mathscr{B}\left(\Delta w_{n l k}-\xi_{1}, \frac{\lambda}{2}\right) \diamond \mathscr{B}\left(\Delta w_{n l k}-\xi_{2}, \frac{\lambda}{2}\right)<v \diamond v
$$

Since $v \diamond v<\varepsilon$, we get $\mathscr{B}\left(\xi_{1}-\xi_{2}, \lambda\right)<\varepsilon$. Since $\varepsilon \in(0,1)$ was arbitrary, we acquire $\mathscr{B}\left(\xi_{1}-\xi_{2}, \lambda\right)=0$ for all $\lambda>0$ which means that $\xi_{1}=\xi_{2}$. If we observe the third case, we see that $\xi_{1}=\xi_{2}$. Hence, in all conditions, we obtain $s t_{N(\Delta)}^{3}-\lim w_{n l k}$ is determined unique.

Theorem 3.7. Let $w=\left(w_{n l k}\right)$ be a sequence in $V$. If $\Delta w \rightarrow \zeta((\mathscr{G}, \mathscr{B}, \mathscr{Y}))$, then $s t_{N(\Delta)}^{3}-\lim w=\zeta$.
Proof. By supposition, for every $\lambda>0$ and $\varepsilon \in(0,1)$, there is a $k_{0} \in \mathbb{N}$ such that

$$
\mathscr{G}\left(\Delta w_{n l k}-\zeta, \lambda\right)>1-\varepsilon \text { and } \mathscr{B}\left(\Delta w_{n l k}-\zeta, \lambda\right)<\varepsilon, \mathscr{Y}\left(\Delta w_{n l k}-\zeta, \lambda\right)<\varepsilon
$$

for every $n \geq k_{0}, l \geq k_{0}, k \geq k_{0}$. This assurances that the set

$$
\left\{(n, l, k) \in \mathbb{N}^{3}: \mathscr{G}\left(\Delta w_{n l k}-\zeta, \lambda\right) \leq 1-\varepsilon \text { or } \mathscr{B}\left(\Delta w_{n l k}-\zeta, \lambda\right) \geq \varepsilon, \mathscr{Y}\left(\Delta w_{n l k}-\zeta, \lambda\right) \geq \varepsilon\right\}
$$

has at most finitely many terms. Every finite subset of the $\mathbb{N}$ has density zero, so we acquire

$$
\delta_{3}\left(\left\{(n, l, k) \in \mathbb{N}^{3}: \mathscr{G}\left(\Delta w_{n l k}-\zeta, \lambda\right) \leq 1-\varepsilon \text { or } \mathscr{B}\left(\Delta w_{n l k}-\zeta, \lambda\right) \geq \varepsilon, \mathscr{Y}\left(\Delta w_{n l k}-\zeta, \lambda\right) \geq \varepsilon\right\}\right)=0
$$

gives the result. Hence, $s t_{N(\Delta)}^{3}-\lim w_{n l k}=\zeta$.
The subsequent example indicates that the converse of Theorem 3.7 is not valid.
Example 3.8. Let $(F,\|\cdot\|)$ be a NS. For each $a, b \in[0,1]$, select the $T N a * b=a b$ and the $T C a \diamond b=\min \{a+b, 1\}$. For every $w=\left(w_{\text {nlk }}\right) \in F$ and each $\lambda>0$, we contemplate $\mathscr{G}(w, \lambda)=\frac{\lambda}{\lambda+\|w\|}, \mathscr{B}(w, \lambda)=\frac{\|w\|}{\lambda+\|w\|}$ and $\mathscr{Y}(w, \lambda)=\frac{\|w\|}{\lambda}$. Then $V$ is an NNS. We identify a sequence $\left(w_{n l k}\right)$ by

$$
w_{n l k}= \begin{cases}1, & n=k^{2}, l=v^{2}, k=t^{2}(k, v, t \in \mathbb{N}) \\ 0, & \text { otherwise. }\end{cases}
$$

## Consider

$$
A_{p q r}(\varepsilon, \lambda)=\left\{\begin{array}{c}
n \leq p, l \leq q, k \leq r: \mathscr{G}\left(w_{n l k}-\xi, \lambda\right) \leq 1-\varepsilon \text { or } \\
\mathscr{B}\left(w_{n l k}-\xi, \lambda\right) \geq \varepsilon, \mathscr{Y}\left(w_{n l k}-\xi, \lambda\right) \geq \varepsilon
\end{array}\right\}
$$

for every $\varepsilon \in(0,1)$ and for any $\lambda>0$. Then we acquire

$$
\begin{aligned}
A_{p q r}(\varepsilon, \lambda) & =\left\{n \leq p, l \leq q, k \leq r: \frac{\lambda}{\lambda+\left\|w_{n l k}\right\|} \leq 1-\varepsilon \text { or } \frac{\left\|w_{n l k}\right\|}{\lambda+\left\|w_{n l k}\right\|} \geq \varepsilon, \frac{\left\|w_{n l k}\right\|}{\lambda} \geq \varepsilon\right\} \\
& =\left\{n \leq p, l \leq q, k \leq r:\left\|w_{n l k}\right\| \geq \frac{\lambda \varepsilon}{1-\varepsilon}, \text { or }\left\|w_{n l k}\right\| \geq \lambda\right\} \\
& =\left\{n \leq p, l \leq q, k \leq r:\left\|w_{n l k}\right\|=1\right\} \\
& =\left\{n \leq p, l \leq q, k \leq r: n=k^{2}, l=v^{2}, k=t^{2}(k, v, t \in \mathbb{N})\right\}
\end{aligned}
$$

we get

$$
\frac{1}{p q r}\left|A_{p q r}(\varepsilon, \lambda)\right|=\frac{1}{p q r}\left|\left\{n \leq p, l \leq q, k \leq r: n=k^{2}, l=v^{2}, k=t^{2}(k, v, t \in \mathbb{N})\right\}\right| \leq \frac{\sqrt{p q r}}{p q r}
$$

which means that $\lim _{p q r \rightarrow \infty} \frac{1}{p q r}\left|A_{p q r}(\varepsilon, \lambda)\right|=0$. Hence, we have $s t_{N(\Delta)}^{3}-\lim w_{n l k}=0$. However, the sequence $w=\left(w_{n l k}\right)$ is not $\Delta$-convergent in the space $(F,\|\cdot\|)$.
Theorem 3.9. Take NNS as $V$. Then, st $t_{N(\Delta)}^{3}-\lim w_{n l k}=\zeta$ iff there is a subset

$$
K=\left\{(n, l, k) \in \mathbb{N}^{3}: n, l, k=1,2,3, \ldots\right\} \subset \mathbb{N}^{3}
$$

such that $\delta_{3}(K)=1$ and $(\mathscr{G}, \mathscr{B}, \mathscr{Y})-\lim _{(n, l, k) \in K, n, l, k \rightarrow \infty} \Delta w_{n l k}=\zeta$.
Proof. Presume that $s t_{N(\Delta)}^{3}-\lim w_{n l k}=\zeta$. Then, for every $\lambda>0$ and $j \geq 1$,

$$
K(j, \lambda)=\left\{(n, l, k) \in \mathbb{N}^{3}: \mathscr{G}\left(\Delta w_{n l k}-\zeta, \lambda\right)>1-\frac{1}{j} \text { and } \mathscr{B}\left(\Delta w_{n l k}-\zeta, \lambda\right)<\frac{1}{j}, \mathscr{Y}\left(\Delta w_{n l k}-\zeta, \lambda\right)<\frac{1}{j}\right\}
$$

and

$$
M(j, \lambda)=\left\{(n, l, k) \in \mathbb{N}^{3}: \mathscr{G}\left(\Delta w_{n l k}-\zeta, \lambda\right) \leq 1-\frac{1}{j} \text { or } \mathscr{B}\left(\Delta w_{n l k}-\zeta, \lambda\right) \geq \frac{1}{j}, \mathscr{Y}\left(\Delta w_{n l k}-\zeta, \lambda\right) \geq \frac{1}{j}\right\} .
$$

Then $\delta_{3}(M(j, \lambda))=0$ since

$$
\begin{equation*}
K(j, \lambda) \supset K(j+1, \lambda) \tag{3.1}
\end{equation*}
$$

and

$$
\begin{equation*}
\delta_{3}(K(j, \lambda))=1 \tag{3.2}
\end{equation*}
$$

for $\lambda>0$ and $j \geq 1$. Now we need to show that for $(n, l, k) \in K(j, \lambda)$ the triple sequence $w=\left(w_{n l k}\right)$ is $\Delta$-convergent to $\zeta \in F$ w.r.t NN $(\mathscr{G}, \mathscr{B}, \mathscr{Y})$. Suppose $w=\left(w_{n l k}\right)$ be not $\Delta$-convergent to $\zeta \in F$ w.r.t NN $(\mathscr{G}, \mathscr{B}, \mathscr{Y})$. Therefore, there are $\beta>0$ and $k_{0}>0$ such that $\mathscr{G}\left(\Delta w_{n l k}-\zeta, \lambda\right) \leq 1-\beta$ or $\mathscr{B}\left(\Delta w_{n l k}-\zeta, \lambda\right) \geq \beta, \mathscr{Y}\left(\Delta w_{n l k}-\zeta, \lambda\right) \geq \beta$ for all $n \geq k_{0}, l \geq k_{0}, k \geq k_{0}$. Let $\beta>\frac{1}{j}$ and

$$
K(\beta, \lambda)=\left\{(n, l, k) \in \mathbb{N}^{3}: \mathscr{G}\left(\Delta w_{n l k}-\zeta, \lambda\right)>1-\beta \text { and } \mathscr{B}\left(\Delta w_{n l k}-\zeta, \lambda\right)<\beta, \mathscr{Y}\left(\Delta w_{n l k}-\zeta, \lambda\right)<\beta\right\} .
$$

Then, we have $\delta_{3}(K(\beta, \lambda))=0$. Since $\beta>\frac{1}{j}$, by (3.1) we get $\delta_{3}(K(j, \lambda))=0$, which contradicts by (3.2). Therefore, $w=\left(w_{n l k}\right)$ is $\Delta$-convergent to $\zeta \in F$ w.r.t $\mathrm{NN}(\mathscr{G}, \mathscr{B}, \mathscr{Y})$.

Conversely presume that there is a subset $K=\left\{(n, l, k) \in \mathbb{N}^{3}: n, l, k=1,2,3, \ldots\right\} \subset \mathbb{N}^{3}$ such that $\delta_{3}(K)=1$ and $(\mathscr{G}, \mathscr{B}, \mathscr{Y})-$ $\lim _{(n, l, k) \in K, n, l, k \rightarrow \infty} \Delta w_{n l k}=L$. Then for every $\lambda>0$ and $\varepsilon \in(0,1)$, there is $k_{0} \in \mathbb{N}$ such that $\mathscr{G}\left(\Delta w_{n l k}-\zeta, \lambda\right)>1-\varepsilon$ and $\mathscr{B}\left(\Delta w_{n l k}-\zeta, \lambda\right)<\varepsilon, \mathscr{Y}\left(\Delta w_{n l k}-\zeta, \lambda\right)<\varepsilon$ for all $n \geq k_{0}, l \geq k_{0}, k \geq k_{0}$. Let

$$
\begin{aligned}
M(\varepsilon, \lambda) & :=\left\{(n, l, k) \in \mathbb{N}^{3}: \mathscr{G}\left(\Delta w_{n l k}-\zeta, \lambda\right) \leq 1-\varepsilon \text { or } \mathscr{B}\left(\Delta w_{n l k}-\zeta, \lambda\right) \geq \varepsilon, \mathscr{Y}\left(\Delta w_{n l k}-\zeta, \lambda\right) \geq \varepsilon\right\} \\
& \left.\subseteq \mathbb{N}^{3}-\left\{\left(n_{k_{0}+1}, l_{k_{0}+1} k_{k_{0}+1}\right),\left(n_{k_{0}+2}, l_{k_{0}+2} k_{k_{0}+2}\right), \ldots\right\}\right\}
\end{aligned}
$$

and as a consequence $\delta_{3}(M(\varepsilon, \lambda)) \leq 1-1=0$. Hence $s t_{N(\Delta)}^{3}-\lim w_{n l k}=\zeta$. Then, the desired result has been acquired.
Definition 3.10. Let $V$ be an NNS, then $\zeta$ is named a $\Delta$-limit point of the sequence $w=\left(w_{n l k}\right)$ w.r. $N N(\mathscr{G}, \mathscr{B}, \mathscr{Y})$ on condition that there is a subsequence of the sequence $w$ which $\Delta$-converges to $\zeta$ w.r.t $N N(\mathscr{G}, \mathscr{B}, \mathscr{Y})$. Let $L_{(\mathscr{G}, \mathscr{B}, \mathscr{Y})(\Delta)}^{3}(w)$, indicate the set of all limit points of the sequence $w$ w.r. $N N(\mathscr{G}, \mathscr{B}, \mathscr{Y})$. Let $\left\{\left(w_{n\left(j_{1}\right) l\left(j_{2}\right) k\left(j_{3}\right)}\right)\right\}$ be a subsequence of $w=\left(w_{n l k}\right)$ and $P=\left\{\left(n\left(j_{1}\right), l\left(j_{2}\right), k\left(j_{3}\right)\right) \in \mathbb{N}^{3}, j_{1}, j_{2}, j_{3} \in \mathbb{N}\right\}$, then we contract $\left\{\left(w_{n\left(j_{1}\right) l\left(j_{2}\right) k\left(j_{3}\right)}\right)\right\}$ by $\{w\}_{P}$, which in case $\delta_{3}(P)=0,\{w\}_{P}$ is named a thin subsequence or subsequence of density zero. At the same time, $\{w\}_{P}$ is a non-thin subsequence of $w$ if $P$ does not have density zero.
Definition 3.11. Let $V$ be an NNS. Then, $\zeta$ is named a $\Delta$-statistical limit point of the sequence $w=\left(w_{n l k}\right)$ w.r.t $N N(\mathscr{G}, \mathscr{B}, \mathscr{Y})$ on condition that there is a non-thin subsequence of w that $\Delta$-converges to $\zeta \in V$ w.r.t $N N(\mathscr{G}, \mathscr{B}, \mathscr{Y})$. In that case, we say $\zeta$ is $s t_{N(\Delta)}$-limit point of sequence $w$. Throughout $\Lambda_{N(\Delta)}^{3}(w)$ demonstrates the set of all st $t_{N(\Delta)}^{3}$-limit point of sequence $w$.

Definition 3.12. Let $V$ be an NNS. Then, $\zeta$ is named a $\Delta$-statistical cluster point of the sequence $w=\left(w_{n l k}\right)$ w.r.t $N N(\mathscr{G}, \mathscr{B}, \mathscr{Y})$ on condition that for every $\lambda>0$ and $\varepsilon \in(0,1)$,

$$
\overline{\delta_{3}}\left(\left\{\begin{array}{c}
(n, l, k) \in \mathbb{N}^{3}: \mathscr{G}\left(\Delta w_{n l k}-\zeta, \lambda\right)>1-\varepsilon \text { and } \\
\mathscr{B}\left(\Delta w_{n l k}-\zeta, \lambda\right)<\varepsilon, \mathscr{Y}\left(\Delta w_{n l k}-\zeta, \lambda\right)<\varepsilon
\end{array}\right\}\right)>0
$$

where $\overline{\delta_{3}}=\limsup \delta_{3}$. In that case, we say that $\zeta$ is $s t_{N(\Delta)}^{3}$-cluster point of sequence $w$. Throughout $C l_{N(\Delta)}^{3}(w)$ indicates the set of all $s t_{N(\Delta)}^{3}$-cluster point of sequence $w$.

Definition 3.13. $A$ NNS $V$ is called to be $\Delta$-complete if every $\Delta$-Cauchy sequence is $\Delta$-convergent in $V$ w.r.t $N N(\mathscr{G}, \mathscr{B}, \mathscr{Y})$.
Theorem 3.14. Let $V$ be an NNS. Then, for any sequence $w=\left(w_{n l k}\right) \in V, \Lambda_{N(\Delta)}^{3}(w) \subset C l_{N(\Delta)}^{3}(w)$.
Proof. Let $\zeta \in \Lambda_{N(\Delta)}(w)$, then there is a non-thin subsequence $\left(w_{n\left(j_{1}\right) l\left(j_{2}\right) k\left(j_{3}\right)}\right)$ of $w$ that $\Delta$-converges to $\zeta \in V$ w.r.t NN $(\mathscr{G}, \mathscr{B}, \mathscr{Y})$, i.e.

$$
\delta_{3}\left(\left\{\begin{array}{c}
\left(n\left(j_{1}\right), l\left(j_{2}\right), k\left(j_{3}\right)\right) \in \mathbb{N}^{3}: \mathscr{G}\left(\Delta w_{n\left(j_{1}\right) l\left(j_{2}\right) k\left(j_{3}\right)}-\zeta, \lambda\right)>1-\varepsilon \\
\text { and } \mathscr{B}\left(\Delta w_{n\left(j_{1}\right) l\left(j_{2}\right) k\left(j_{3}\right)}-\zeta, \lambda\right)<\varepsilon, \mathscr{Y}\left(\Delta w_{n\left(j_{1}\right) l\left(j_{2}\right) k\left(j_{3}\right)}-\zeta, \lambda\right)<\varepsilon
\end{array}\right\}\right)=d>0 .
$$

Since

$$
\begin{aligned}
& \left\{(n, l, k) \in \mathbb{N}^{3}: \mathscr{G}\left(\Delta w_{n l k}-\zeta, \lambda\right)>1-\varepsilon \text { and } \mathscr{B}\left(\Delta w_{n l k}-\zeta, \lambda\right)<\varepsilon, \mathscr{Y}\left(\Delta w_{n l k}-\zeta, \lambda\right)<\varepsilon\right\} \\
& \supseteq\left\{\begin{array}{c}
\left(n\left(j_{1}\right), l\left(j_{2}\right), k\left(j_{3}\right)\right) \in \mathbb{N}^{3}: \mathscr{G}\left(\Delta w_{n\left(j_{1}\right) l\left(j_{2}\right) k\left(j_{3}\right)}-\zeta, \lambda\right)>1-\varepsilon \\
\text { and } \mathscr{B}\left(\Delta w_{n\left(j_{1}\right) l\left(j_{2}\right) k\left(j_{3}\right)}-\zeta, \lambda\right)<\varepsilon, \mathscr{Y}\left(\Delta w_{n\left(j_{1}\right) l\left(j_{2}\right) k\left(j_{3}\right)}-\zeta, \lambda\right)<\varepsilon
\end{array}\right\} .
\end{aligned}
$$

For every $\lambda>0$ and $\varepsilon \in(0,1)$, we obtain

$$
\begin{aligned}
& \left\{(n, l, k) \in \mathbb{N}^{3}: \mathscr{G}\left(\Delta w_{n l k}-\zeta, \lambda\right)>1-\varepsilon \text { and } \mathscr{B}\left(\Delta w_{n l k}-\zeta, \lambda\right)<\varepsilon, \mathscr{Y}\left(\Delta w_{n l k}-\zeta, \lambda\right)<\varepsilon\right\} \\
& \supseteq\left\{\left(n\left(j_{1}\right), l\left(j_{2}\right), k\left(j_{3}\right)\right) \in \mathbb{N}^{3}: j_{1}, j_{2}, j_{3} \in \mathbb{N}\right\} \\
& >\left\{\begin{array}{c}
\left(n\left(j_{1}\right), l\left(j_{2}\right), k\left(j_{3}\right)\right) \in \mathbb{N}^{3}: \mathscr{G}\left(\Delta w_{n\left(j_{1}\right) l\left(j_{2}\right) k\left(j_{3}\right)}-\zeta, \lambda\right) \leq 1-\varepsilon \\
\operatorname{or} \mathscr{B}\left(\Delta w_{n\left(j_{1}\right) l\left(j_{2}\right) k\left(j_{3}\right)}-\zeta, \lambda\right) \geq \varepsilon, \mathscr{Y}\left(\Delta w_{n\left(j_{1}\right) l\left(j_{2}\right) k\left(j_{3}\right)}-\zeta, \lambda\right) \geq \varepsilon
\end{array}\right\} .
\end{aligned}
$$

Since $\left\{\left(w_{n\left(j_{i}\right) l\left(j_{2}\right) k\left(j_{3}\right)}\right)\right\}$ is $\Delta$-convergent to $\zeta$ w.r.t the NN $(\mathscr{G}, \mathscr{B}, \mathscr{Y})$, the set

$$
\left\{\begin{array}{c}
\left(n\left(j_{1}\right), l\left(j_{2}\right), k\left(j_{3}\right)\right) \in \mathbb{N}^{3}: \mathscr{G}\left(\Delta w_{n\left(j_{1}\right) l\left(j_{2}\right) k\left(j_{3}\right)}-\zeta, \lambda\right) \leq 1-\varepsilon \\
\text { or } \mathscr{B}\left(\Delta w_{n\left(j_{1}\right) l\left(j_{2}\right) k\left(j_{3}\right)}-\zeta, \lambda\right) \geq \varepsilon, \mathscr{Y}\left(\Delta w_{n\left(j_{1}\right) l\left(j_{2}\right) k\left(j_{3}\right)}-\zeta, \lambda\right) \geq \varepsilon
\end{array}\right\}
$$

is finite, for any $\varepsilon \in(0,1)$, so

$$
\begin{aligned}
& \overline{\delta_{3}}\left(\left\{(n, l, k) \in \mathbb{N}^{3}: \mathscr{G}\left(\Delta w_{n l k}-\zeta, \lambda\right)>1-\varepsilon \text { and } \mathscr{B}\left(\Delta w_{n l k}-\zeta, \lambda\right)<\varepsilon, \mathscr{Y}\left(\Delta w_{n l k}-\zeta, \lambda\right)<\varepsilon\right\}\right) \\
& \geq \overline{\delta_{3}}\left(\left\{\left(n\left(j_{1}\right), l\left(j_{2}\right), k\left(j_{3}\right)\right) \in \mathbb{N}^{3}: j_{1}, j_{2}, j_{3} \in \mathbb{N}\right\}\right) \\
&-\overline{\delta_{3}}\left(\left\{\begin{array}{c}
\left(n\left(j_{1}\right), l\left(j_{2}\right), k\left(j_{3}\right)\right) \in \mathbb{N}^{3}: \mathscr{G}\left(\Delta w_{n}\left(j_{1}\right) l\left(j_{2}\right) k\left(j_{3}\right)-\zeta, \lambda\right) \leq 1-\varepsilon \\
\left.\left.\operatorname{or} \mathscr{B}\left(\Delta w_{n\left(j_{1}\right) l\left(j_{2}\right) k\left(j_{3}\right)}\right) \zeta, \lambda\right) \geq \varepsilon, \mathscr{Y}\left(\Delta w_{n\left(j_{1}\right) l\left(j_{2}\right) k\left(j_{3}\right)}\right) \zeta, \lambda\right) \geq \varepsilon
\end{array}\right\}\right) .
\end{aligned}
$$

Hence

$$
\overline{\delta_{3}}\left(\left\{\begin{array}{c}
(n, l, k) \in \mathbb{N}^{3}: \mathscr{G}\left(\Delta w_{n l k}-\zeta, \lambda\right)>1-\varepsilon \text { and } \\
\mathscr{B}\left(\Delta w_{n l k}-\zeta, \lambda\right)<\varepsilon, \mathscr{Y}\left(\Delta w_{n l k}-\zeta, \lambda\right)<\varepsilon
\end{array}\right\}\right)>0,
$$

which gives $\zeta \in C l_{N(\Delta)}^{3}(w)$. Therefore, we acquire $\Lambda_{N(\Delta)}^{3}(w) \subset C l_{N(\Delta)}^{3}(w)$.
Theorem 3.15. For any sequence $w=\left(w_{n l k}\right) \in V, C l_{N(\Delta)}^{3}(w) \subset L_{(\mathscr{G}, \mathscr{B}, \mathscr{Y})(\Delta)}^{3}(w)$.
Proof. Let $\zeta \in C l_{N(\Delta)}^{3}(w)$, then

$$
\delta_{3}\left(\left\{(n, l, k) \in \mathbb{N}^{3}: \mathscr{G}\left(\Delta x_{n l k}-\zeta, \lambda\right)>1-\varepsilon \text { and } \mathscr{B}\left(\Delta x_{n l k}-\zeta, \lambda\right)<\varepsilon, \mathscr{Y}\left(\Delta x_{n l k}-\zeta, \lambda\right)<\varepsilon\right\}\right)>0
$$

for every $\lambda>0$ and $\varepsilon \in(0,1)$. Let $\{w\}_{P}$ be a non-thin subsequence of $w$ such that

$$
P=\left\{\begin{array}{c}
\left(n\left(j_{1}\right), l\left(j_{2}\right), k\left(j_{3}\right)\right) \in \mathbb{N}^{3}: \mathscr{G}\left(\Delta x_{n\left(j_{1}\right) l\left(j_{2}\right) k\left(j_{3}\right)}-\zeta, \lambda\right)>1-\varepsilon \text { and } \\
\mathscr{B}\left(\Delta x_{n\left(j_{1}\right) l\left(j_{2}\right) k\left(j_{3}\right)}-\zeta, \lambda\right)<\varepsilon, \mathscr{Y}\left(\Delta x_{n\left(j_{1}\right) l\left(j_{2}\right) k\left(j_{3}\right)}-\zeta, \lambda\right)<\varepsilon
\end{array}\right\}
$$

for each $\varepsilon \in(0,1)$ and $\delta_{3}(P) \neq 0$. Since there are infinitely many elements in $P, \zeta \in L_{(\mathscr{G}, \mathscr{B}, \mathscr{Y})(\Delta)}^{3}(w)$. Therefore, we obtain $C l_{N(\Delta)}^{3}(w) \subset L_{(\mathscr{G}, \mathscr{B}, \mathscr{Y})(\Delta)}^{3}(w)$.

Theorem 3.16. For any sequence $w=\left(w_{n l k}\right) \in V$, st $t_{N(\Delta)}^{3}-\lim w_{n l k}=\zeta$, gives $\Lambda_{N(\Delta)}^{3}(w)=C l_{N(\Delta)}^{3}(w)=\{\zeta\}$.
Proof. First we denote that $\Lambda_{N(\Delta)}^{3}(w)=\{\zeta\}$. Presume that $\Lambda_{N(\Delta)}^{3}(w)=\{\zeta, \eta\}$ such that $\zeta \neq \eta$. In that case, there are two non-thin subsequences $\left\{\left(w_{n\left(j_{1}\right) l\left(j_{2}\right) k\left(j_{3}\right)}\right)\right\}$ and $\left\{\left(w_{p\left(j_{1}\right) q\left(j_{2}\right) r\left(j_{3}\right)}\right)\right\}$ of $w=\left(w_{n l k}\right)$ those $\Delta$-converge to $\zeta$ and $\eta$ respectively w.r.t the NN $(\mathscr{G}, \mathscr{B}, \mathscr{Y})$. Since $\left\{\left(w_{p\left(j_{1}\right) q\left(j_{2}\right) r\left(j_{3}\right)}\right)\right\}$ is $\Delta$-convergent to $\eta$ w.r.t the $\mathrm{NN}(\mathscr{G}, \mathscr{B}, \mathscr{Y})$, so for every $\lambda>0$ and $\varepsilon \in(0,1)$,

$$
P=\left\{\begin{array}{c}
\left(p\left(j_{1}\right), q\left(j_{2}\right), r\left(j_{3}\right)\right) \in \mathbb{N}^{3}: \mathscr{G}\left(\Delta x_{p\left(j_{1}\right) q\left(j_{2}\right) r\left(j_{3}\right)}-\eta, \lambda\right) \leq 1-\varepsilon \text { or } \\
\mathscr{B}\left(\Delta x_{p\left(j_{1}\right) q\left(j_{2}\right) r\left(j_{3}\right)}-\eta, \lambda\right) \geq \varepsilon, \mathscr{Y}\left(\Delta x_{p\left(j_{1}\right) q\left(j_{2}\right) r\left(j_{3}\right)}-\eta, \lambda\right) \geq \varepsilon
\end{array}\right\}
$$

is a finite set and so $\delta_{3}(P)=0$. Then, we observe that

$$
\begin{aligned}
& \left\{\left(p\left(j_{1}\right), q\left(j_{2}\right), r\left(j_{3}\right)\right) \in \mathbb{N}^{3} \in \mathbb{N}^{3}, j_{1}, j_{2}, j_{3} \in \mathbb{N}\right\} \\
& =\left\{\begin{array}{c}
\left(p\left(j_{1}\right), q\left(j_{2}\right), r\left(j_{3}\right)\right) \in \mathbb{N}^{3}: \mathscr{G}\left(\Delta x_{p\left(j_{1}\right) q\left(j_{2}\right) r\left(j_{3}\right)}-\eta, \lambda\right)>1-\varepsilon \text { and } \\
\mathscr{B}\left(\Delta x_{p\left(j_{1}\right) q\left(j_{2}\right) r\left(j_{3}\right)}-\eta, \lambda\right)<\varepsilon, \mathscr{Y}\left(\Delta x_{\left.p\left(j_{1}\right) q\left(j_{2}\right) r\left(j_{3}\right)-\eta, \lambda\right)<\varepsilon}\right\}
\end{array}\right\} \\
& \cup\left\{\begin{array}{c}
\left.\left(p\left(j_{1}\right), q\left(j_{2}\right), r\left(j_{3}\right)\right) \in \mathbb{N}^{3}: \mathscr{G}\left(\Delta x_{p\left(j_{1}\right)}\right) q\left(j_{2}\right) r\left(j_{3}\right)-\eta, \lambda\right) \leq 1-\varepsilon \text { or } \\
\mathscr{B}\left(\Delta x_{\left.p\left(j_{1}\right) q\left(j_{2}\right) r\left(j_{3}\right)-\eta, \lambda\right) \geq \varepsilon, \mathscr{Y}\left(\Delta x_{p\left(j_{1}\right) q\left(j_{2}\right) r\left(j_{3}\right)}-\eta, \lambda\right) \geq \varepsilon}\right\}
\end{array}\right.
\end{aligned}
$$

which gives that

$$
\delta_{3}\left(\left\{\begin{array}{c}
\left(p\left(j_{1}\right), q\left(j_{2}\right), r\left(j_{3}\right)\right) \in \mathbb{N}^{3}: \mathscr{G}\left(\Delta x_{p\left(j_{1}\right) q\left(j_{2}\right) r\left(j_{3}\right)}-\eta, \lambda\right)>1-\varepsilon \text { and }  \tag{3.3}\\
\mathscr{B}\left(\Delta x_{p\left(j_{1}\right) q\left(j_{2}\right) r\left(j_{3}\right)}-\eta, \lambda\right)<\varepsilon, \mathscr{Y}\left(\Delta x_{p\left(j_{1}\right) q\left(j_{2}\right) r\left(j_{3}\right)}-\eta, \lambda\right)<\varepsilon
\end{array}\right\}\right) \neq 0
$$

Since $s t_{N(\Delta)}^{3}-\lim w_{n l k}=\zeta$, we get

$$
\delta_{3}\left(\left\{\begin{array}{l}
(n, k, l) \in \mathbb{N}^{3}: \mathscr{G}\left(\Delta x_{n k l}-\zeta, \lambda\right) \leq 1-\varepsilon \text { or }  \tag{3.4}\\
\mathscr{B}\left(\Delta x_{n k l}-\zeta, \lambda\right) \geq \varepsilon, \mathscr{Y}\left(\Delta x_{n k l}-\zeta, \lambda\right) \geq \varepsilon
\end{array}\right\}\right)=0
$$

for every $\lambda>0$ and $\varepsilon \in(0,1)$. Therefore, we can write

$$
\delta_{3}\left(\left\{\begin{array}{l}
(n, k, l) \in \mathbb{N}^{3}: \mathscr{G}\left(\Delta x_{n k l}-\zeta, \lambda\right)>1-\varepsilon \text { and } \\
\mathscr{B}\left(\Delta x_{n k l}-\zeta, \lambda\right)<\varepsilon, \mathscr{Y}\left(\Delta x_{n k l}-\zeta, \lambda\right)<\varepsilon
\end{array}\right\}\right) \neq 0 .
$$

For every $\zeta \neq \eta$, we get

$$
\begin{aligned}
& \left\{\begin{array}{c}
\left(p\left(j_{1}\right), q\left(j_{2}\right), r\left(j_{3}\right)\right) \in \mathbb{N}^{3}: \mathscr{G}\left(\Delta x_{p\left(j_{1}\right) q\left(j_{2}\right) r\left(j_{3}\right)}-\eta, \lambda\right)>1-\varepsilon \text { and } \\
\mathscr{B}\left(\Delta x_{p\left(j_{1}\right) q\left(j_{2}\right) r\left(j_{3}\right)}-\eta, \lambda\right)<\varepsilon, \mathscr{Y}\left(\Delta x_{p\left(j_{1}\right) q\left(j_{2}\right) r\left(j_{3}\right)}-\eta, \lambda\right)<\varepsilon
\end{array}\right\} \\
& \cap\left(\left\{\begin{array}{c}
(n, k, l) \in \mathbb{N}^{3}: \mathscr{G}\left(\Delta x_{n k l}-\zeta, \lambda\right)>1-\varepsilon \text { and } \\
\mathscr{B}\left(\Delta x_{n k l}-\zeta, \lambda\right)<\varepsilon, \mathscr{Y}\left(\Delta x_{n k l}-\zeta, \lambda\right)<\varepsilon
\end{array}\right\}\right)=\emptyset .
\end{aligned}
$$

Hence

$$
\begin{aligned}
& \left\{\begin{array}{c}
\left(p\left(j_{1}\right), q\left(j_{2}\right), r\left(j_{3}\right)\right) \in \mathbb{N}^{3}: \mathscr{G}\left(\Delta x_{p\left(j_{1}\right) q\left(j_{2}\right) r\left(j_{3}\right)}-\eta, \lambda\right)>1-\varepsilon \text { and } \\
\mathscr{B}\left(\Delta x_{p\left(j_{1}\right) q\left(j_{2}\right) r\left(j_{3}\right)}-\eta, \lambda\right)<\varepsilon, \mathscr{Y}\left(\Delta x_{p\left(j_{1}\right) q\left(j_{2}\right) r\left(j_{3}\right)}-\eta, \lambda\right)<\varepsilon
\end{array}\right\} \\
& \subset\left\{\begin{array}{c}
(n, k, l) \in \mathbb{N}^{3}: \mathscr{G}\left(\Delta x_{n k l}-\zeta, \lambda\right) \leq 1-\varepsilon \text { or } \\
\mathscr{B}\left(\Delta x_{n k l}-\zeta, \lambda\right) \geq \varepsilon, \mathscr{Y}\left(\Delta x_{n k l}-\zeta, \lambda\right) \geq \varepsilon
\end{array}\right\} .
\end{aligned}
$$

Therefore

$$
\begin{aligned}
& \overline{\delta_{3}}\left(\left\{\begin{array}{c}
\left(p\left(j_{1}\right), q\left(j_{2}\right), r\left(j_{3}\right)\right) \in \mathbb{N}^{3}: \mathscr{G}\left(\Delta x_{p\left(j_{1}\right) q\left(j_{2}\right) r\left(j_{3}\right)}-\eta, \lambda\right)>1-\varepsilon \text { and } \\
\mathscr{B}\left(\Delta x_{p\left(j_{1}\right) q\left(j_{2}\right) r\left(j_{3}\right)}-\eta, \lambda\right)<\varepsilon, \mathscr{Y}\left(\Delta x_{p\left(j_{1}\right) q\left(j_{2}\right) r\left(j_{3}\right)}-\eta, \lambda\right)<\varepsilon
\end{array}\right\}\right) \\
& \leq \overline{\delta_{3}}\left(\left\{\begin{array}{c}
(n, k, l) \in \mathbb{N}^{3}: \mathscr{G}\left(\Delta x_{n k l}-\zeta, \lambda\right) \leq 1-\varepsilon \text { or } \\
\mathscr{B}\left(\Delta x_{n k l}-\zeta, \lambda\right) \geq \varepsilon, \mathscr{Y}\left(\Delta x_{n k l}-\zeta, \lambda\right) \geq \varepsilon
\end{array}\right\}\right)=0 .
\end{aligned}
$$

This contradicts (3.3). Hence $\Lambda_{N(\Delta)}^{3}(w)=\{\zeta\}$.
Next we demonstrate that $C l_{N(\Delta)}^{3}(w)=\{\zeta\}$. Presume that $C l_{N(\Delta)}^{3}(w)=\{\zeta, \gamma\}$ such that $\zeta \neq \gamma$. Then

$$
\overline{\delta_{3}}\left(\left\{\begin{array}{c}
(n, k, l) \in \mathbb{N}^{3}: \mathscr{G}\left(\Delta x_{n k l}-\gamma, \lambda\right)>1-\varepsilon \text { and }  \tag{3.5}\\
\mathscr{B}\left(\Delta x_{n k l}-\gamma, \lambda\right)<\varepsilon, \mathscr{Y}\left(\Delta x_{n k l}-\gamma, \lambda\right)<\varepsilon
\end{array}\right\}\right) \neq 0 .
$$

Since

$$
\begin{aligned}
& \left\{\begin{array}{l}
(n, k, l) \in \mathbb{N}^{3}: \mathscr{G}\left(\Delta x_{n k l}-\zeta, \lambda\right)>1-\varepsilon \text { and } \\
\mathscr{B}\left(\Delta x_{n k l}-\zeta, \lambda\right)<\varepsilon, \mathscr{Y}\left(\Delta x_{n k l}-\zeta, \lambda\right)<\varepsilon
\end{array}\right\} \\
& \cap\left\{\begin{array}{c}
(n, k, l) \in \mathbb{N}^{3}: \mathscr{G}\left(\Delta x_{n k l}-\gamma, \lambda\right)>1-\varepsilon \text { and } \\
\mathscr{B}\left(\Delta x_{n k l}-\gamma, \lambda\right)<\varepsilon, \mathscr{Y}\left(\Delta x_{n k l}-\gamma, \lambda\right)<\varepsilon
\end{array}\right\}=\emptyset
\end{aligned}
$$

for every $\zeta \neq \gamma$, so

$$
\begin{aligned}
& \left\{\begin{array}{c}
(n, k, l) \in \mathbb{N}^{3}: \mathscr{G}\left(\Delta x_{n k l}-\zeta, \lambda\right) \leq 1-\varepsilon \text { or } \\
\mathscr{B}\left(\Delta x_{n k l}-\zeta, \lambda\right) \geq \varepsilon, \mathscr{Y}\left(\Delta x_{n k l}-\zeta, \lambda\right) \geq \varepsilon
\end{array}\right\} \\
& \supseteq\left\{\begin{array}{c}
(n, k, l) \in \mathbb{N}^{3}: \mathscr{G}\left(\Delta x_{n k l}-\gamma, \lambda\right)>1-\varepsilon \text { and } \\
\mathscr{B}\left(\Delta x_{n k l}-\gamma, \lambda\right)<\varepsilon, \mathscr{Y}\left(\Delta x_{n k l}-\gamma, \lambda\right)<\varepsilon
\end{array}\right\} .
\end{aligned}
$$

Therefore

$$
\begin{align*}
& \overline{\delta_{3}}\left(\left\{\begin{array}{c}
(n, k, l) \in \mathbb{N}^{3}: \mathscr{G}\left(\Delta x_{n k l}-\zeta, \lambda\right) \leq 1-\varepsilon \text { or } \\
\mathscr{B}\left(\Delta x_{n k l}-\zeta, \lambda\right) \geq \varepsilon, \mathscr{Y}\left(\Delta x_{n k l}-\zeta, \lambda\right) \geq \varepsilon
\end{array}\right\}\right) \\
& \geq \overline{\delta_{3}}\left(\left\{\begin{array}{c}
(n, k, l) \in \mathbb{N}^{3}: \mathscr{G}\left(\Delta x_{n k l}-\gamma, \lambda\right)>1-\varepsilon \text { and } \\
\mathscr{B}\left(\Delta x_{n k l}-\gamma, \lambda\right)<\varepsilon, \mathscr{Y}\left(\Delta x_{n k l}-\gamma, \lambda\right)<\varepsilon
\end{array}\right\}\right) . \tag{3.6}
\end{align*}
$$

From (3.5), the right hand side of (3.6) is greater than zero and from (3.4) the left hand side of (3.6) equals zero. This causes a contradiction. Hence $C l_{N(\Delta)}^{3}(w)=\{\zeta\}$.

Theorem 3.17. The set $C l_{N(\Delta)}^{3}$ is closed in $V$ for each $w=\left(w_{n l k}\right)$ of elements of $V$.
Proof. Let $q \in \overline{C l_{N(\Delta)}^{3}(w)}$. Let $r \in(0,1)$ and $\lambda>0$, there is $\sigma \in C l_{N(\Delta)}^{3}(w) \cap B(q, r, \lambda)$ such that

$$
B(q, r, \lambda)=\{s \in V: \mathscr{G}(q-s, \lambda)>1-r \text { and } \mathscr{B}(q-s, \lambda)<r, \mathscr{Y}(q-s, \lambda)<r\}
$$

Select $\xi>0$ such that $B(\xi, \sigma, \lambda) \subset B(q, r, \lambda)$. Then, we get

$$
\begin{aligned}
& \left\{\begin{array}{l}
(n, k, l) \in \mathbb{N}^{3}: \mathscr{G}\left(q-\Delta w_{n k l}, \lambda\right)>1-r \text { and } \\
\mathscr{B}\left(q-\Delta w_{n k l}, \lambda\right)<r, \mathscr{Y}\left(q-\Delta w_{n k l}, \lambda\right)<r
\end{array}\right\} \\
& \supset\left\{\begin{array}{c}
(n, k, l) \in \mathbb{N}^{3}: \mathscr{G}\left(\sigma-\Delta w_{n k l}, \lambda\right)>1-\xi \text { and } \\
\mathscr{B}\left(\sigma-\Delta w_{n k l}, \lambda\right)<\xi, \mathscr{Y}\left(\sigma-\Delta w_{n k l}, \lambda\right)<\xi
\end{array}\right\} .
\end{aligned}
$$

Since $\sigma \in C l_{N(\Delta)}^{3}(w)$ so

$$
\overline{\delta_{3}}\left(\left\{\begin{array}{l}
(n, k, l) \in \mathbb{N}^{3}: \mathscr{G}\left(\sigma-\Delta w_{n k l}, \lambda\right)>1-\xi \text { and } \\
\mathscr{B}\left(\sigma-\Delta w_{n k l}, \lambda\right)<\xi, \mathscr{Y}\left(\sigma-\Delta w_{n k l}, \lambda\right)<\xi
\end{array}\right\}\right)>0 .
$$

Hence

$$
\overline{\delta_{3}}\left(\left\{\begin{array}{c}
(n, k, l) \in \mathbb{N}^{3}: \mathscr{G}\left(q-\Delta x_{n k l}, \lambda\right)>1-r \text { and } \\
\mathscr{B}\left(q-\Delta x_{n k l}, \lambda\right)<r, \mathscr{Y}\left(q-\Delta x_{n k l}, \lambda\right)<r
\end{array}\right\}\right)>0 .
$$

Thus $q \in C l_{N(\Delta)}^{3}(w)$. This ends the proof.

## Acknowledgement

The authors would like to express their sincere thanks to the editor and the anonymous reviewers for their helpful comments and suggestions.

## Funding

Not applicable.

## Availability of data and materials

Not applicable.

## Competing interests

The authors declare that they have no competing interests.

## Author's contributions

All authors contributed equally to the writing of this paper. All authors read and approved the final manuscript.

## References

${ }^{[1]}$ L.A. Zadeh, Fuzzy sets, Inform. Control, 8 (1965), 338-353.
${ }^{[2]}$ J. H. Park, Intuitionistic fuzzy metric spaces, Chaos Solitons Fractals, 22 (2004), 1039-1046.
${ }^{[3]}$ F. Lael, K. Nourouzi, Some results on the IF-normed spaces, Chaos Solitons Fractals, 37 (2008), 931-939.
${ }^{[4]}$ S. Karakuş, K. Demirci, O. Duman, Statistical convergence on intuitionistic fuzzy normed spaces, Chaos Solitons Fractals, 35 (2008), 763-769.
${ }^{[5]}$ S. Karakuş, K. Demirci, Ş. Yardımcı, Statistical limit points of sequences on intuitionistic fuzzy normed spaces, J. Concr. Appl. Math., 6(4) (2008), 375-386.
[6] P. Debnath, A generalised statistical convergence in intuitionistic fuzzy n-normed linear spaces, Ann. Fuzzy Math. Inform., 12(4) (2016) 559-572.
${ }^{[7]}$ E. Savaş, M. Gürdal, A generalized statistical convergence in intuitionistic fuzzy normed spaces, Science Asia, 41 (2015), 289-294.
${ }^{[8]}$ F. Smarandache, Neutrosophic set, a generalisation of the intuitionistic fuzzy sets, Int. J. Pure Appl. Math., 24(3) (2005), 287-297.
${ }^{[9]}$ F. Smarandache, Neutrosophy, Neutrosophic Probability, Set and Logic, ProQuest Information \& Learning, Ann Arbor, Michigan, USA, 1998.
${ }^{[10]}$ M. Kirisci, N. Şimşek, Neutrosophic metric spaces, Math. Sci., 14 (2020), 241-248.
[11] M. Kirisci, N. Şimşek, Neutrosophic normed spaces and statistical convergence, J. Anal., 28 (2020), 1059-1073.
${ }^{[12]}$ M. Kirisci, N. Şimşek, M. Akyiğit, Fixed point results for a new metric space, Math. Methods Appl. Sci., 44(9) (2020), 7416-7422.
${ }^{[13]}$ Ö. Kişi, Lacunary statistical convergence of sequences in neutrosophic normed spaces, 4th International Conference on Mathematics: An Istanbul Meeting for World Mathematicians, Istanbul, 345-354, 2020.
${ }^{[14]}$ Ö. Kişi, Ideal convergence of sequences in neutrosophic normed spaces, J. Intell. Fuzzy Syst., 41(2) (2021), 2581-2590.
${ }^{[15]}$ V. A. Khan, M. D. Khan, M. Ahmad, Some new type of lacunary statistically convergent sequences in neutrosophic normed space, Neutrosophic Sets Syst., 42 (2021), 239-252.
[16] A. Zygmund, Trigonometric Series, Cambridge University Press, Cambridge, UK, 1979.
${ }^{[17]}$ H. Fast, Sur la convergence statistique, Colloq. Math., 2 (1951), 241-244.
[18] J. A. Fridy, On statistical convergence, Analysis, 5 (1985), 301-313.
${ }^{[19]}$ A. A. Nabiev, E. Savaş, M. Gürdal, Statistically localized sequences in metric spaces, J. Appl. Anal. Comput., 9(2) (2019), 739-746.
${ }^{[20]}$ E. Savaş, M. Gürdal, Generalized statistically convergent sequences of functions in fuzzy 2-normed spaces, J. Intell. Fuzzy Systems., 27(4) (2014), 2067-2075.
${ }^{[21]}$ M. Mursaleen, O. H. H. Edely, Statistical convergence of double sequences, J. Math. Anal. Appl., 288 (2003), 223-231.
${ }^{[22]}$ B. Altay, F. Başar, Some new spaces of double sequences, J. Math. Anal. Appl., 309(1) (2005), 70-90.
${ }^{[23]}$ A. Şahiner, M. Gürdal, F. K. Düden, Triple sequences and their statistical convergence, Selçuk J. Appl. Math., 8(2) (2007), 49-55.
${ }^{[24]}$ A. Esi, Statistical convergence of triple sequences in topological groups, Annals Univ. Craiova. math. Comput. Sci. Ser., 10(1) (2013), 29-33.
${ }^{[25]}$ B. C. Tripathy, R. Goswami, On triple difference sequences of real numbers in propobabilistic normed space, Proyecciones J. Math., 33(2) (2014), 157-174.
${ }^{[26]}$ H. Kızmaz, On certain sequence spaces, Canad. Math. Bull., 24 (1981), 169-176.
${ }^{[27]}$ M. Başarır, On the statistical convergence of sequences, Fırat Univ. Turk. J. Sci. Technol., 2 (1995), 1-6.
${ }^{[28]}$ R. Çolak, H. Altınok, M. Et, Generalized difference sequences of fuzzy numbers, Chaos Solitons Fractals, 40(3) (2009), 1106-1117.
${ }^{[29]}$ Y. Altın, M. Başarır, M. Et, On some generalized difference sequences of fuzzy numbers, Kuwait J. Sci., 34(1A) (2007), 1-14.
${ }^{[30]}$ S. Altundağ, E. Kamber, Lacunary $\Delta$-statistical convergence in intuitionistic fuzzy n-normed space, J. Inequal. Appl., 2014(40) (2014), 1-12.
${ }^{[31]}$ B. Hazarika, A. Alotaibi, S.A. Mohiudine, Statistical convergence in measure for double sequences of fuzzy-valued functions, Soft Comput., 24(9) (2020), 6613-6622.
${ }^{[32]}$ F. Başar, Summability theory and its applications, Bentham Science Publishers, Istanbul, 2012.
${ }^{[33]}$ M. Mursaleen, F. Başar, Sequence Spaces: Topics in Modern Summability Theory, CRC Press, Taylor \& Francis Group, Series: Mathematics and Its Applications, Boca Raton London New York, 2020.
${ }^{[34]}$ K. Menger, Statistical metrics, Proc. Natl. Acad. Sci. USA, 28(12) (1942), 535-537.

